E ° AMBIENT EXECUTIVE MID-BACK CHAIR HEADREST
e nbf ASSEMBLY INSTRUCTIONS

900

Signature Series
800-558-1010
www.NBF.com TO ATTACH THE HEADREST ONLY:
Use the (2) 3/16" screws (E) and wrench (G) to attach the headrest attachment
to the headrest (2).
® 3

HEADREST - QTY: 1

o

B === — FF??&?%~

. % qﬂ 6% %% %%
\ﬁg%”' ad*&%&"?ﬁﬁ&ﬂ*%ﬁg§~
U 90.9.9.9.90.0.9:070 9790000 0 O\
78500002020 070°0.0 V0 80, 0.0.0. 0.8

70.0.9.020.9.0.0.0.0.0.0. T

HEADREST ATTACHMENT - QTY: 1 3K 5SS R L L L LK NI KRR XXX

()
&S QRIIRRIREKMFINKREKK
R RN
2000000020 %0%" , 22%%a%%%

€. 0. 0.0.0.0.¢6" Vo009 9@
/F 020202 2000%eY (06 %6 %% %%
ZRRRREZIXIRRRRK

05070702070 0202507 % % %%

HANGER — QTY: 1 0070% 0% %% % %% %% % % %

@ TO ATTACH THE HEADREST AND HANGER:
Use the (2) 3/16" screws (E) and wrench (G) to attach the hanger ()
to the headrest (A).

HANGER ATTACHMENT - QTY: 1

®

by

3/16" SCREW - QTY: 2

Y=

ALLEN WRENCH - QTY: 1

TO ATTACH THE HANGER ONLY:

Use the (2) 3/16" screws (E) and wrench (G) to attach the hanger ()
to the hanger attachment (D).

— —
(

o 00'01
0.0
) .0.0’0 @,

SRS

CUSTOMER SERVICE HOTLINE
800-626-6060

WWW.NBF.COM 82042



